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    * Diverse vink

  A.2    3:   Husk, at  (reiθ)2 = r2ei2θ .
5:   Bemærk, at  (reiθ)-1 = (1/r)e-iθ .  (Eftervis.)

                7:   Facit:  argw = -π/6  og  argw = 5π/6
                9:   Mellemresultat:  u = x2 - 1 ,  v = 2x .  Eliminer x mellem u og v .
              11:   Husk, at  argez = y . 
              15:   Mellemresultat:  u/ x = (y2 - x2) / (x2 + y2)2 ,  v/ x = - 2xy / (x2 + y2)2

              18:   Husk, at  ez  er periodisk med perioden  2πi .
              20:   Facit:  coshz = cos(iz) ,  sinhz = - i sin(iz)
              26:   Facit:   Re(cosz) = cosx coshy ,  Im(cosz) = - sinx sinhy

Re(sinz) = sinx coshy ,   Im(sinz) = cosx sinhy
              37:   Mellemresultat:  | z |4 = 16 ,   | f(z) - z4 | 15
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